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SOCIAL WORK / F4S 58&
Paper - I1/ 58 - 11

1. Integrated approach in Social Work | 1, Q8&& ;55)&55 20RNBE GDES S :
means :

(A) Synthesis of Social Work methods @) FaS éE& 3)(55‘3 ﬁaoé& Rogriio
(B) Integration of Techniques of Social (B) RFES 5§, BEE) D) Jo@ro
Work
(C) /A%KS 6’352, MEES TetHdy
(C) Application of Social Work
Approaches (D) o) drpodawen @‘é‘c’_o Bk

(D) Practice of all the theories

2. E5% ad@rhod (Hogre 0GR &

2.  Match the List-I with List-II and select 50008 Slondedn asSEHHm.
the correct answer from the codes . .
given below : O -1 0 -1I
List-I List-II (a) ao@odés &n @) 5%_3_
o, ®
(a) Introduction to (i) W.A. Friedlander ] 33&5 §Eeeorb

Social Welfare b) BKS cgo‘jyﬁag;s (i) b 85508

(b) Social Diagnosis (1) Mary Richmond
(c) BOUES &w (iii) &B.a). 9f 38,

(¢) Introduction to (iii) R.A. Skidmore, BsS 55& do.2 e,
Social Work M.G. Thackeray . >3
and O.W. Farley -Geps. a8
(d) Sacial Case (iv) H.H. Perlman (d) FSSEH S5 (iv) S S.
Work é§§b$
Codes : §5¢$>Q :
(@ (b (© «@ (a) (b) () (@)
A @ G 3¢ Gv) Ay () @) 3Gl ()
(B) () @) @(v) (i) B) @ @G Gv) Gii)
© (v) @ @i (i) © @(v) @ @) (@)

D) Gi) @ Gv) Gii) (D) @) @ Gv) (i)
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Assertion (A) :

Social Work cannot be considered as
Human Right Profession.

Reason (R) :
It only deals with human problems.

Choose your from the

following :
.(A) (A) is false, but (R) 1s true
(B) (A) is true, but (R) is false

(C) Both (A) and (R) are true but (R)
is not correct explanation of (A)

(D) Both (A) and (R) are false

answer

Which one of the following is not
correctly matched ?

(A) Arya Samaj - Swami Dayanand
Saraswati

(B) Brahma Samaj - Raja RamMohan
Roy

(C) Theosophical Society - M.G.
Ranade

(D) Satya Sodhak Samaj - Jyotiba
Phule

Movements that are deeply dissatisfied
with the social order and work for
radical change are called :

(A) Reform Movements

(B) Revolutionary Movements
{(C) Revivalist Movements

(D) Resistance Movements

Which of the following is ascribed
status ? :

(A) Ethnicity
(B) Spouse
(C) Criminal
(DY  Athlete
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7.

Which of the following are the main
causes of social change in India ?

(a) Independence
(b) Industrialization
(¢) Education

(d) Sanskritisation
Codes :

(A) (a), (b} and (c)
(B) (b), (c) and (d)
(C) (), () and (&)
(D)  (a), (b) and (d)

Assertion (A) :

Socialization is a significant process of
human groups.

Reason (R) :

Long period of dependency allows
children to learn things they need to
know.

Choose your from the

following :

answer

Codes :

(A) Both (A) and (R) are true and (R)
1s the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation
of (A)

(C) (A) is true and (R) is false

(D) Both (A) and (R) are false
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10.

11.

12.

Identify right sequence of declarations
made in the Indian Constitution :

(A) Sovereign, Socialist, Secular,
Democratic, Republic

(B) Sovereign, Secular, Socialist,
Democratic, Republic

(C) Sovereign, Socialist, Secular,
Republic, Democratic

(D) Sovereign, Democratic, Socialist,
Secular, Republic

World’s first governmental population
stabilisation programme was launched
in:

(A) China
{(C) America

(B) Russia
(D) India

Shadow Personality theory about
human personality was proposed by :

(A) Carl Jung

(B) Skinner

(C) Sigmund Freud
(D) Alfred Adler

Arrange Maslow’s Needs Hierarchy in
correct sequence :

(a) Physiological Needs
(b) Self - actualization
(¢) Esteem Needs

(d) Safety Needs

(e) Belonging Needs
Codes :

(&) (a), @), (e), (0) and (b)
®) (o), (@), (a), {c) and (b}
(©) (0, (e), (d), (2) and (b)
@) (a), ®), (©), (d) and (e)
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B) %

(€) R0k (Fronk

D) oSHE cHEs

SPRSS BY)S estore [ErRy Sowd
SEBSE eody.

(a) &os

b) DE-CHHIJERI®

(@ 585w

(d) o%e

(e) &rodn¥

§5c$o‘3 :

A) (a), (d), (), (c) Bt (b)
(B) (o), (@), (a), (c) SoB™ (b)
©) (©), (), (d), () B (b)
D) (a), (), (&), (d) 5:6c50 (e)
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13. Match the items in List-I with List-II | 13, 1 955, II 0Sa0% 28389 ISSo0x0%
and choose the correct code given éo“nbt;a‘:)a 555365 S0l

below :
List1 List-II o -1 0% - 11
{2) First stage (1) Basic trust versus (a) DSB8 ) Jdayso, @3’32626:&50

Mistrust

Bos &84 i) Hegolo, esse
(b) Second stage (i1) Autonomy versus ®) _ © (i) V@olBo, & %0

Shame and Doubt S8 DoBIED
(¢) Third stage (iii) Industry versus (c) SHoe8S &F  (iii) éééaééso -
Inferiority eS)srssEr grso
(d) Fourth stage iv) glitii?tive versus @) Ty 53 (iv) BGogo — w58
NI
Codes :
5563‘3 .

(@) (b () (@
@ O @ @) @)
B @ G Gv) ()
© v G) @G O
™ @& Gv) () G

(a) (b} () (d)
@ @O @ G @)
B @ G) Gv) (i)
© Gv) () Gi) @)
M @O Gv) i) @)

14. Humans defend themselves against
their own unconscious impulses or | 14, SPSHen SH&E @oééﬁom e oROBe)

negative qualities by denying their S5 eS, eSogmrol ©oALBOoSE

existance in themselves while
attributing them to others is termed BB BIEVOTTIY B HEORD

as:
(A) BRI
(A) Repression

B) QAcHS
(B) Denial (B)
(C) Projection (C) &85
(D) Regression D) BRI
i, T 7 i w _: E‘F{({é*‘:l';-‘-':-ﬂfr_.' & t__l. s 3 .B; 2.7_:1. 7
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15.

16.

17.

Paper-11 ' fcr} oLy

Match the List - I with List - IT and find
the correct answer :

List-I List-I1
(a) System theory (i) Parson
and Merton
(b) Behaviourism (ii) Pavlov
and Social and Skinner
Learning

Psychodynamic (iii) Adler and
theory Freud

(iv) Erikson

(c)

(d

Psychosocial
Developmental
theory

Codes :
(a)
(1)
(i)
(1)
()

(b)
(i1)

() ()
Qv) (i)
@O G Gv)
G) i) Gv)
(iii) (i) @

(A)
(B)
©
D)

“Each client is perceived as unique
individual with a separate identity and
not as one of a mass” this is nothing
but :

(A)
(B)
©)
D)

Individualisation
Acceptance
Non-judgemental attitude

Controlled emotional involvement

“Every person has innate worth, dignity
and capacity’— indicates :

A
(B)
(€
)

Individualisation
Acceptance _
Non-judgemental attitude

Controlled emotional involvement

S
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18. Social case work is mostly used in :
(A) Clinical settings
(B) Group settings
(C) Community settings
(D)} Court settings

19. Consider the following statement and
select your answer according to the
codes given below.

Assertion (A) :

Social case work is helping the
individuals and families to find solution
to their problems.

Reason (R) :

Whenever individual/families find
difficulty in social functioning they take
the help of case work .

Choose the correct answer :

"(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

(B) (A) is correct but (R} is incorrect
(C) (A) is incorrect and (R) is correct

(D) Both (A) and (R) are correct but
(R) is not the correct explanation
of (A)

20. Arrange the following in correct
sequence :

(@) Diagnostic Summary
(b) Home Visits

(¢} Intake Interview

(d) Referral

Codes :

(A (a), (b), (©, ()

B) (d), (c}, (), ()

(C) (), (@), (d), (b)

(D) (b), (@), (&), {©)

Paper-II T e

18.

19.

20.

PGS BT $6) Teclyyre o ok ¢
(A) B85S ?oégo?i)e»

(B) =D ?o%oﬁwo

() SSm0d dorben

(D) §°%§ DBorben

& (80D DIBedw K0 JdrgrSo

g8n&® corapod.

DB (A):

SgEaen =8 Hivozren I IHPgeo

$85)0oSoE Howgs S B0 85)

[ oh B 0b.

=8ndn (R) !

Sg¥oen, enomren FIrAE Doen

ABBoHHE S5HVDodT Ty B8y

35PoHo AoHodrd.

(A) (A) 500cw (R) §B§¢g hocin (R),
(A) &8, DB DDBeasdw

(B) (A)DBondt =02 (R) SB00&dd st

©)  (A)SBansd S $60% (R) S6ans
IS AT

(D) (A), (R) Dol é‘éég) s*2 (R),

(A) Go8) DBowd DHBeasn 570

&8 (Bod PR HBowd KNS Byl :
(a) SRS vEyd

b) T I8

() =REE mobdry

() BHSS

55659‘3 :

(4) (a), ®), (@), @

B) (), (o), () @

(©) (©, (a), @), ()
D) (b)), (d), (a), (@)
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21.

22,

23.

‘Paper-II

Interaction pattern in which each

member talks to other members of the

group by turn, is called :
(A) Maypole

(B) Round robin

(C) Hot seat

(D) Free floating

According to which theory group
members act out unresolved conflicts
from early life of experiences in the
group.

(A) Learning
(B) Field
(C) Systems

(D) Psychoanalytic

Select the correct option for purpose
and goals of the Social Goals Model from
the following :

() Social Consciousness
(b) Social Responsibility

(¢} Informed political and social
action

(d) Informed citizenry
Codes :

(A) (a) and (b)

(B) (a), (c) and (d)

(©) (a), (b) and (c)

D) (a), (), (c) and (d)

21.

22.

23.
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ey
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(B) (a), (c) S0Bas» (d)
©) (@, (b) Hdc» (o)
D) (a), (), (c) S (d)
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24.

25.

26.

Find the correct sequence of stages of
Group Development as per Tuckman :

(A) Forming, Storming, Norming and
Performing

(B) Forming, Norming, Storming and
Performing

(C) Forming, Storming, Performing
and Norming

(D) Forming, Norming, Performing
and Storming

Match the List-I with List-IT and find
correct answer from the followings :

List-I List-11

(a) Social Exchange (i) Kurt I;ewin
Theory

‘(b) System Theory (1) Bandura

(c) Field Theory (iii) Talcott
Parsons

(d} Learning Theory (iv) Thibaut and
Kelley

Codes :
(@ (b) (¢} (d)
@ O @ ) @v)
By @ Gi) Gv) GD)
() vy (i) @ @)
D @) () v @

The book ‘Community Conservations’ is
written by :

(A) M.G. Ross

(B) B.Mukherji

(C) Paul Born

(D) Patricia and Hardcastle

Paper-II
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Sosasn 89
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B @ G Q) a6
(C) Gv) (i) (@) @
D) @) @) Gv) 6
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27.

28.

29.

30.

Who defines social action as “mass
betterment through propaganda and
social legislation” ?

(A) Sudney Maslin
(B) Philip Kchler
(C) Friedlander
(D) Mary Richmond

Which of the following is not the
principle of social action ?

(A) Principle of Dramatization
(B) Principle of Multiple Strategies
(C) Principle of Legitimization

(D) Principle of
Mobilization

Resource

Which one of the following Indian won
the Ramon Magsaysay award in the field
of Community Leadership in 2016 ?

(A) Bezwada Wilson
(B) Prakash Amte

(C) Mandakini Amte
(D) Shubham Mishra

Which is not the phase in the process of
community organization ?

(A) Encouraging people to think

(B) Efforts at development of a
nucleus within the community

(C) Enlisting peoples participation

(D) Programme Planning

Paper-Il

27.
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29.

30.

LT T
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(D) Db 85508
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(B) 9HS redl QYIS
(C) BABDESS HYSS

(D) &Gy IHPFRS BADS

2016 &° FPLETPADE TEHESE SP0DD
D rEBNSH TS DKy oT
oSk ?

(A) Beard S
B) B8 6y
(C) Hoorredd o3
@) o Mz

& (0 RS’ D §¥ SxgdB egIFLS
89S Josts ?

A) Buod 86 Dosmeds |PiE)irosto

(B) émegmgé‘ Soggermrd ©dH
Boto [HahEnen

©) Bueo PEHsty Sabiko
(D) @S V0K

B-27-17




OR B AR L

31. Method of science is perhaps the most
commonly used method of knowing or
fixing beliefs because knowledge
attained through science is subjected
to:

(A) Empirical tests
(B) Analytical tests
(C) Field tests

(D) Logical tests

32. The scientific approach has one of the
following characteristic that no other
method of attaining knowledge has :

(A) Subjectivity
(B) Objectivity
(C) Relativity
(D) Productivity

33. Assertion (A):

“We cannot draw conclusions based on
percentage difference”.

Reason (R) :

It does not tell us if the difference
drawn will hold good to the population
from which the sample is drawn.

(A) (A) is correct and (R) i1s wrong.

(B) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(C) Both (A) and (R) are wrong.
(D) Both (A) and (R) are éorrect, but
(R) is not an explanation of (A).
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34. The question, “Are you satisfied with

35.

36.

your job ?’ is called

(A) Leading question

(BY Threatening question
(C) Dichotomous question

(D) Double barrelled question

Which one of the following is a
probability sampling method ?

(A) Simple Random Sampling

(B)

Purposive Sampling

(C) Snowball Sampling

(D) Quota Sampling

The National Policy for Empowerment
of women was adopted in the year

(A) 2002

(B) 2001
(C) 1999

(D) 1986
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37.

38.

39.

The following are the pre-requisites for
registering a  social welfare
organisation :

(a) Good intentions
CONSClOUSNess

and social

(b) A Memorandum of Association
(¢} A group of individuals

(d) Aims and objectives of the
Association

Choose the correct answer from the
following :

(A) (@), (b) and ()
(B) (b), (c) and (d)
(©) (a), (b) and (d)
(D) (a), (c) and (d)

According to whom social Policy
represents a summation of Acts of
Government, deliberately designed to
improve the welfare of the people ?

(A) P.D. Kulkarni
(B) Marshall

(C) David Hill
(D) Titmus

is not a source of forming
social policy.

(A) Census of India
(B) NSSO data
(C) Government Reports

(D) Personal diaries
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40.

41.

42.

Paper-11

Who was the founder chairperson of .

Central Social Welfare Board ?
(&)
B)
©)
)

Sarojini Naidu

Sucheta Kriplani

Dr. Durgabai Deshmukh
Aruna Asaf Ali

Which of the following fundamental
rights of Indian Constitution is/are not
enshrined in UDHR ?

(a) Protection of monuments and
places and objects of national
importance

() Equality before law

() Prohibition of discrimination on
grounds of religion, race, caste,
sex or place of birth

(d) Protection of life and personal
liberty

Codes :

(A) (a) only

(B) (2) and (b) only

(C) (), (c) and (d)

(D) (d) only

Amnesty International was established
in the year :

(A)
(B)
(©)
)

July 1961
July 1962
July 1965
January 1966
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47.

48.

Consider the following statements and
select your answer from the codes given
below :

Assertion (A) :

People’s participation is essential for
the success of developmental
programme.

Reason (R) :

Education and Awareness lead to
participation.

Codes ;:

(A) Both (A) and (R) are true and (R)
18 the correct explanation of (A)

(B) Both (A) and (R) are true and (R)
is not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

The Human Development Index (HDI)
is a comparative measure of

(a) Life expectancy

(b) Literacy

(¢) Standard of living

(d) Income

Choose the correct answer :
A @, o), ©

B) (a), O, @

€ @, © @

O B ©
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The acronym UDHR stands for :

43.

44,

45.

46.

Paper-IT

A)

(B)

©

D)

Universal Declaration on Human
Rights -

Universal Development of Human
Resources

Universal Declaration of Human
Rights

United Nations Development Fund
for Health and Rehabilhitation

Which article of the Indian Constitution
talks about the free and compulsory
education of all children in the age
group of six to fourteen years as a
fundamental rights ?

(A)
(B)
©)
)

Article 24
Article 21A
Article 20
Article 29

The Medical Termination of Pregnancy
(MTP) Act was enacted 1n the year :

(A)
(B)
(C)
(D)

1981
1971
1991
2001

Which one of the following is a
Millennium Development Goal ?

(A
(B)
(€)
D)

Promote gender sensitivity
Reduce child mortality rate
Improve social health

Combat corruption
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